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AC = BD = 6cm ©] tjzH4 9] w48 O 2t stH AO = BO =
CO = DO = 3cm ©]2, ACLBD o]t}

.. O0ABCD = AABO + ABCO + ACDO + ADAO = (% X 3 X

3) x 4 = 18(cm?) o|t}.
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AB:AD =BC:CD
(x+2):4=x:3
4x =3x+6

Sx=6
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OAFCE & HArH ol
CF=40°]E2 gAFCE =4 x6 = 24
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8. & 1¥oA AABC o ADCE®] Y, A C+= BE 9 9t} AB =
8cm, BC = 6cm, CE = 9em ¥ W], DF 9] do]x?

@ 6cm @ 6.8cm 3)7.2cm

@ 8cm ® 8.2cm

D ~
AABC ADCE°]EZ AB:DC =BC:CE
8:DC=6:9°]22 DC = 12(cm)

AEAB ¢t AEFC A /E & &%, /B = (FCE(-
AABC ¢ ADCE)

AEAB O AEFC (AA ©2)

EB:EC=AB:FCo|E& 15:9=8:CF

CF = 4.8(cm)

- DF =12-4.8 = 7.2(cm)
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AABF oj| A
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@ 450 cm? ®)500 cm?

AB/QM I QM & 124
AR=RN,MR:DN =3:2
AP:PN=8:2=4:1
AAND : ADPN =5:1

ADPN = 1AAND
= - X 1|:|ABCD
51 4

- OABCD = 20ADPN = 20 x 25 = 500( cm?)
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ODABCD 7} AAtZHg o282 AE = HD = BF = CGo|x,
EH = EF = FG = HG°]t}. /AEH = /BFE, /AHE = /BEF
olBm & /HEF = 90°°|t}. watk gEFGH = AAFZF o]},
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33 .43 . 63 =27 : 64 : 216
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